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INSTRUCTIONS TO CANDIDATES

1. This question paper has 50 questions. Each question carries one mark. There are four choices for answer

(A, B, C, D) to each question. Choose the correct answer (one only) for each question and mark it on

the Optical Response Sheet (ORS).

Questions have been set in English and Hindi, in case of discrepancy, the English version will prevail.

Read the instructions given in the ORS carefully.

Use a black pen only otherwise, ORS will not be evaluated.

Candidate must write Name, Roll No., Date of Examination, Booklet Code and sign on the ORS.

The candidate should check that the booklet does not have any unprinted or torn or missing pages or

guestions etc. If so, get it replaced with another question paper.

7. While marking your answer on the ORS, fully darken the circle. Answer once marked cannot be
changed.

8. One (1) mark will be awarded for each correct answer and minus one by three (—g) mark for each

IS

incorrect answer. The unanswered questions will not attract negative marks.

9. Return the ORS to the invigilator after the examination is over.

10. Candidate is allowed to take away question paper after the examination.

11. Mobile and other Electronic Gadgets are prohibited in the examination. Watches of any kind are also
not allowed.

12. Use of unfair means in examination will lead to cancellation of candidature.

CORRECT Method of Answering in ORS WRONG Method of Answering in ORS
ORS H IR & &1 gl i1 ORS H IR & HT 7Teld 1T
> @ © © ® & €
» ® @ © D X
®@ ® © ® w e o
— :/ @ . : : = —
»n ® © @ O A O R
Sufiear! & fore srge=r

T UYT T 50 T & | TS UY &b IR &b AT IR (A, B, C, D) [adhed | A% Uefdhs 1w It SR (hadt Uh) T
3R 3¥ Optical Response Sheet (ORS) e R Rifed &

fguTsht st B 1S fainifa 81 &t fRufar & Sfsft faavor A ghm |

ORs ¥ feu Tt &= &l T Y U |

&I I U BT YN BHX, =TT ORS BT oAb+ -To| (b ST |

ORS 2fie TR 301 7, Jd Far, Uten &t fafy, gl Hie fordeik gxdler &1

JCaR B T8 SIreT =Rt {6 39 gt § 18 3mfed a1 %e 1 J1ual Uy a1 usie el 81 afe T e, a8
TSR IY I g d |

ORS TR 3{UAT IR 3Hfobd HRd THY I TMcl bl Y1 a8 Y BTAT DR ¢ | Uob SR 3ifcbd IR DI I&al A1 off Hebell|
TS T SR b oY Teh (1) $feh Tl BTN SR Tl TIeff IR ab 1 U el fi (— - ) 3ieh e fa smam |
START U THRIAD 3 BT Tal Bl |

T8 JAT 8 & &1 ORS FARYerd &1 afer |

10. ITHIGIR PI TRA&T & TG T UF 304 1Y & S 1 A 5
11. TRIET T MaTSd 3R 3 SAaei-dh oy aroid ¢ | frdt Hf R ot afsal ot off srgafa 72t g1
12. Tten o srford Tre & UanT Bt fRufa & Iufigart g o <t S|
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(Objective type questions)

TbR b UY)
Each question carries 1 mark
TS UY & 1 3/ §
1. It’s avery busy airport. There are planes or landing every few minutes.
A. going off
B. taking off
C. gettingup
D. driving off
2. Ramesh started a course at college, but he after six months.
A. went out
B. fell out
C. turned out
D. dropped out
3.  Ram away two or three times a year.
A. isgoing usually
B. s usually going
C. usually goes
D. goesusually
4.  Where ? Which hairdresser did you go to?
A. did you cut your hair
B. have you cut your hair
C. did you have cut your hair
D. did you have your hair cut
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5.

6.

7.

8.

You were going to apply for the job, and then you decided not to.

So what ?
A. putyou off
B. put you out
C. turned you off
D. turned you away

If | were rich, a lot.
A. Tl travel
B. | can travel
C. | would travel
D. |travelled

In which year, Union Territories were introduced in India?

YRA H g Rd TN $1 YL3Td iy av 32
A. 1949
B. 1950
C. 1956
D. 1960

In which year, the “Make in India” program was launched in India?

YRA H A 3 S Sa1" HIH vy oy YRe fobar 1 T2

A
B.
C.
D.

2012
2014
2016
2019
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10.

11.

Which among the following states of India share its boundary with at least three other

foreign countries?

HRd & e & I fog Isg o 1 &7 I 4 I o= fadsh 3= & 9y

ATl 82
A.  Sikkim
B. West Bengal
C. Arunachal Pradesh
D. All of the above

S| & gt

Which is the longest river in Europe?
Europe H a9 dat 7} B I} 87

A. Danube
B. Rhine
C. Volga
D. Elbe

Which of the following countries collaborated with Bhilai Steel plant for its

establishment?

fgferfea & 9 g <xr A fYAR STUTd HREMI & RITUAT & ol I9d 1Y JganT

foar?
A. Britain
B. USA
C. Russia
D. Japan
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12.

13.

14.

15.

Which sportsperson was awarded the ‘Dhyan Chand Khel Ratna Award 2022°?
fr g RIATS! B &g W Id RIHR 2022' F AT fovam mare

A. PV Sindhu
B.  Sharath Kamal
C. Mary Kom
D. Virat Kohli

Which of the following option is not a function of the operating system?

fofefad # 9 &9 a1 faee TRfET Rer &1 orf T8t 87

Memory management
Process Management

File management

o w >

Database Management

Which of the following is not an open source Operating System?

frafafad 7 9 & 91 T 3T O SifRfeT Ren 78 32

A. LINUX

B. ANDROID
C. WINDOWS
D. None of these

What is the standard Windows keyboard shortcut key combination for “Redo”?

"Redo” & T AF® 4T Hlale Wicdhe dront YAl 31 82

Control +Y
Control + Minus
Control + Shift + A
Control + Z

oo w >
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16.

17.

18.

In the following, who is the inventor of World Wide Web (www)?

fofefad # 9@ ar3s a9 (www) P 3MAHRS B 82

A. Tim Cook
B. Bill Gates
C. Tim Berners-Lee
D. Mark Zuckerberg
SMTP stands for?
SMTP &1 AAAd &1 57
A.  Simple Mail Text Pattern
B.  Secure Mail Text Processing
C.  Secure Message Transfer Process
D.  Secure Mail Transfer Protocol

Which of the following function key displays the "Go-To" dialogue box in MS-Excel

worksheet?

MS-Excel GhITe H "Go-To" dialogue box TERId - & ot ford e droil &1

IUINT foaT ST bl 272
A. F3
B. F2
C. F5
D. F4
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19.

20.

21.

The three roots of the equation f(x) = 0 are {-2, 0, 3}.
What are the three values of x for which f(x - 3) = 0?

THIHRT f(x) = 0 & IF gl {-2, 0, 3} B
x P T A9 31 8 forb fora f(x - 3) = 0 87

A. -5-30
B. -2,0,3
C. 06,8
D. 1,36

The population of a town increases by 5% annually. If its present population is 84,000,

what will be its population in 2 years time?

T e Bt Seed & ufaay 5% &1 gfg gt 31 afe 3! adam S
84,000 &, A 2 a¥ d1¢ 3P SIS fHa- giFft?

A. 92660
B. 92560
C. 92610
D. 92600

If the distance between the points A(2, -2) and B(-1, X) is equal to 5, then one of the

values of x is

gfe fig A@, -2) 3R B(-1, x) & T &I g 5 & RSR g, @l x BT Th AF

A 2
B. -2
C. 1
D. -1
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22. The area of a triangle with vertices (a, b +¢), (b, c+a) and (¢, a + b) is

W(a, b+ ¢), (b, c+a)\3‘?|q(c, a+b)aﬁﬁﬂﬁﬁmg

A. (a+b+c)?
B. 0

C. (a+b+o)
D. ab

23. Ratio of the angles of a triangle are 1:2:6. What is the smallest angle?

TH Y & HI0N BT SJUId 1:2:6 & | T BT HIVT DI AT §7

A.  40°
B. 45°
C. 30°
D. 20°

24. See the bar diagram below. What is the number of years when exports were 10% higher

as compared to the import?

I IR SR < | 3 N bt T o1 § O1d Fatd STd &1 o § 10% SHfUH

YT?
180
D Export
1 150
W /mports 140 140
4 130 —
120 120
120 110 -
— 100 100
10
| eo
60 |:|52
A 1
B. 2
cC. 3
D. 4
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25.

26.

27.

Find the number of permutations of the letters of the word ROORKEE.

ROORKEE ¥Isg & 31&R| & HHURGA bt TT J1d HIFTT|

A 21

B. 1260

C. 5040

D. 630
Fill in the blank.
e I BT 1R |
343,1331, _ , 4913

A. 3375

B. 2744

C. 2197

D. 4096

Mr. X walks 5km towards the south and then turn to the right. After walking 3kms he

turns to the left and walks 5kms. What direction is he facing right now?

Mr. X 5 et G &t 3R 9ad € iR R o iR ged g1 3l aem F e o
13 3R g3 € 3R 5 fortft =ad § 1 ot 3T e fpw famm d g2

A.  West

B. South

C. North East
D. South West
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28. Pointing to a photograph, a man said, “I have no brother or sister but that man’s father

is my father’s son”. Whose photograph was it?

Teh IR 1 3R SRIRT B §U, T 3HGH! - BHgl, "R Pls HIS U1 961 o1 o
AP 3T 3wt o1 fodr TR fdr o1 der 8" | I8 frgst awaik o

A. Hisson’s

B.  His father’s
C.  His nephew’s
D. Hisown

29. Paw:Cat :: Hoof: ?

A. Lamb

B. Elephant
C. Lion

D. Horse

30. In a certain language, 6219 mean ‘Sachin is a cricketer’ and 2646 means ‘He played

from Mumbai’. Which of the following is the code for ‘Mumbeai is very famous’?

Uah YHIYT T, 6219 BT &[Qf% 'Sachin is a cricketer' 3T 2646 I G{?f% 'He played from
Mumbai' | FEIRId § ¥ 'Mumbai is very famous' & I &I 9T code B2

A. 7945
B. 2458
C. 6246
D. 6285

31.  Which of the following is a value of cos~1(1/2)?

ofRad # 9 B I cos—1(1/2) BTAM G2

A. (1m + n/3)/2
B. 7m— m/3

C. m/6

D. b5n/2 — n/3
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32.  The number of terms in the expansion of (x + v + 2)1°°(x + 1) is

(x+y+2)%x+ 1)%%@17'&[@@?@3”%

A. 5151
B. 202
C. 12302
D. 5100

33. The minimum value of —x? + 100x + 4000 is
—x% +100x + 4000 &1 gAdH A §

A. 6500
B. 4000
C. 1500
D. does not exist
HIe el 8
34.  The derivative of 22" is
22" Bl AAHATY
A (In2)22%
B. (In2)32%+%
C.  (In2)22x+?
D. (in2)2%
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35 The value of f02”/3cos x cos 2x dx is

fozn/gcos x cos 2x dx PTHF G

A 32

B. —V3/4

C

D. None of the above
ST A DI it 78T

36. Which of the following is NOT correct about a primary key of a database
relation/table?

TSy Yat/diferet Bt urufiies ot & aR § e § 3 o a1 98 el 87

A. There is a unique tuple for any existing value of the primary key.
i Goit & fopalt o Tisfer I & forg U sifgedig cuw 21
B. Primary key cannot be null.
T ol Y el gl et
C. There may be multiple primary keys for a table.
farelt arferent & foe wantfies urufires il 8 Tt &
D. A primary key can consist of multiple columns.
TH UIUTHE Foll § Fs HiaH gl Ibd g |

37. The values of the two logical expressions

3l aifbes siftreafaaal & A

(i) (@3%7>0)and ((7<=7)or (13<9)),
(i) ((not (8 <=7)) and (3 > 2)) or (len("False™) < 4)
are respectively

HHTIAR gl
A. True, True
B. True, False
C. False, True
D. False, False
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38. SMTP is a protocol for which of the following?

smTp fRaferiad & O feas fou te Uidierd g2

A

B
C.
D

Internet routing
Webpage transmission
File Transfer Protocol

Electronic email transmission

39.  Which of the following does not use electromagnetic waves for communication?

frafafad & 9 o SR & fore faggd Tieea a3 &1 UG 8 &l 82

o w >

WiFi

Bluetooth

Satellite Communication
Ethernet LAN

40. In python programming language, Marks = {"Amit":85, "Suman™:67, "Raman":75,
"Raju":58} is a

I TIATRERT o7 f[ Marks = {"Amit":85, "Suman":67, "Raman":75, "Raju":58} Udch

___®

oo w»

List

Array
Dictionary
Set

Page 14 of 20



41.

42.

A 10 kg weight is hung from two spring balances as shown in the figure. Which of the
following is the nearest approximation to the reading on each spring balance?

o o ey & feaman T g, &) 8T aRISL &R 10 fh et 1 9o desml T/ g |
frafafad & 9 F a1 vd® BT 9a9 W ST &1 Rdcan afdemed g2

A. 10kg
B. 5kg

C. 7.07kg
D. 7.51kg

A person travels along a straight line from A to B with a uniform speed v, , and returns
to A along the same path with a uniform speed v,.
The average speed of the person is

U fedd A T B I U el a1 § U JHMA T v, B I BT 8, 3R Th JHHA
T v, T I UY TR A TR dledl g1 e ol 3 gd T gl

171+'U2
A. v =
2
B. v = v,
C. 2v1V;,
VvV = —
171+172
V1V2
D. v =
171+172
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43. Three point masses of 4 gm, 3 gm, and 1 gm are placed on the vertices of an equilateral
triangle as shown in the figure. What is the coordinate of the center of mass?

49T, 3 T 3R 1 T & o fog SodH U IHaTg Ay & Y )R 79 70§
o o o o e a1 8 | SoaWH & 9 T Fo=iids a1 82

A (01
B. (-1,1)

C. (052
D. (15,2

44. At what distance from a convex mirror of focal length 5 m should a boy stand,
perpendicularly to the principal axis, so that his image has a height equal to half of his
actual height?

5 HIeR BIdhd adls & 3Ud GUUT 3 fahal g3l IR Uh A8 Dl - 3H& & aaad
WS g1 IR, dlfes ISP BfA B HAT8 IUD! IRATGD ST b AT & SRR

&Y

A 25m
B. 5m

C. 15m
D. 10m
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45.

46.

47.

Three registers are connected as shown in the figure. The effective resistance between
points A and B is

fot & faame SR fiF IoRex 2 gT B fig A $iR B & o9 et ufeRiy
g

2L

@

W\

6

A 9Q
B. 250
C. 89a
D. 5Q

Which of the following does not exist in free form?

frafafad & 9 ®F 91 gaad U & 981 uran Si1d1 82

A. BFs

B. BBr3
C. BHs
D. BCI3

CH3 - CH2—-CH2-CHO is called
CH3 - CH2 — CHz2 — CHO &I CARSIGIR

Butyraldehyde

A

B.  Butyric acid
C. Isobutyl alcohol
D

Acetaldehyde
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48. A mixture of FeSO4 and Fez(SOa)3 has equal number of sulphate ions in both ferrous

and ferric sulphates. The molar ratio of Fe 2* to Fe 3* in the mixture is
FeSOs 3R Fex(SO4); o T fHYur & By 3R ke Tetbe GIHl | Tetbe TAT
&1 T S § | FS0T H Fe 2+ 9 Fe 3+ BT molar 3/IUTd §

A 12
B. 32
C. 23
D. 21

49.  Which of the following statements is true about the transitional elements?

Transitional elements & SR H MgfaRad § 9 P I HYT Id %?

A. They are highly reactive.
d e ufafmarsiia g
B. They have low melting point.

T TS HH BT o |
C.  They show variable oxidation states.

d gRRac- R SHRAHRUT SR G § |
D. They are highly electropositive.

d i faggd eHTHS §d B
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50. The reaction
N2Os (g) = 2NO; (g) +0z (g)
takes place in a closed container. If during a certain time interval, the rate of

decomposition of N2Os is 1.8 x 1073 mol L ~*min ~1, what are the rates of formation

of NOz and Oz in mol L ~*min ~1 during the same interval?

ufafear

N:Os (g) — 2NO. (9) +%Oz (9)

T& ¢ HeR H gl 5.

gfe TH FfYd g 3R & SR, N,0s & 3Uged &l & 1.8 x 1073
mol L ~1min -1 §, A THIT SfaRTd & GRM mol L ~'min ~* H NO, 3R 0, & &9 &1
R AT E?

A. 18x1073 and 0.9 x 1073
B. 36x1073 and 1.8x 1073
C. 18x1073% and 1.8x 1073
D. 3.6x1073 and 0.9 x 1073
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SPACE FOR ROUGH WORK
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